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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

[˝Á◊SLÓ ( Commerce ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

T ˆTˆ›Ã^ Yy ( 3rd Paper : Statistics & Business 
Organisation ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

[ Part-I A[˝e Part-II -AÃ[˝ LXÓ Y UEı =w¯Ã[˝ Yy [˝Ó[˝c˜ÁÃ[˝ EıÃ[˝„Tˆ c˜„[˝* ] 
[ Use separate Answer Book for Part-I and Part-II ] 

Part – I ( Marks : 50 ) 
( Statistics ) 

Â^-ÂEıÁ„XÁ YgÁªJÙ◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 10 × 5 = 50 
1. ◊X∂oˆ◊_◊FTˆ Y◊Ã[˝aeFÓÁ ◊[˝\ˆÁL„X V«◊ªRÙO Ê`“S›◊[˝\ˆÁ„GÃ[˝ Y◊Ã[˝aeFÓÁ 

%X«N˛ %Á‰ªK˜ : 10 

Ê`“S›◊[˝\ˆÁGı 0-10 10-20 20-30 30-40 40-50 

Y◊Ã[˝aeFÓÁ 14 — 27 — 15 

 ^◊V ]W˝Ó]Á C aeFÓÁmÃ[˝”Ã[˝ ]ÁX ^UÁy‘„] 25 AEıEı A[˝e   
24 AEıEı c˜Ã^, TˆÁc˜„_ %X«N˛ Y◊Ã[˝aeFÓÁm◊_ ◊XSÔÃ^ EıÃ[˝”X* 

2. ◊X∂oˆ◊_◊FTˆ Y◊Ã[˝aeFÓÁ ◊[˝\ˆÁL„XÃ[˝ a]Eı ◊[˝ªJ«ÙÓ◊Tˆ A[˝e Â^Ï◊GEı 

GQÕˆ aÁ„Y„l˘ GQÕˆ ◊[˝ªJ«ÙÓ◊Tˆ ◊XSÔÃ^ EıÃ[˝”X :  

x 0 1 2 3 4 5 6 7 8 

f 4 10 13 21 23 20 18 9 2 

  5 + 5 = 10 

3. x C y ªJÙ_Eı V«◊ªRÙOÃ[˝ Âl˘‰y ◊X\ˆ¤Ã[˝S aÃ[˝_„Ã[˝FÁV«◊ªRÙOÃ[˝ a]›EıÃ[˝S 

c˜_ 03354 =+− yx  A[˝e 0107920 =−− yx * 

(i) x-AÃ[˝ =YÃ[˝ y-AÃ[˝ A[˝e y-AÃ[˝ =YÃ[˝ x-AÃ[˝   

◊X\ˆ¤Ã[˝S-ÂÃ[˝FÁ V«◊ªRÙO„Eı ◊ªJÙ◊c˜‘Tˆ EıÃ[˝”X* 

(ii) xyr -AÃ[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X* 

(iii) ^FX x = 10, TˆFX y-AÃ[˝ %X«◊]Tˆ ]ÁX EıTˆ c˜„[˝ ? 

(iv) x A[˝e y-AÃ[˝ GQÕˆ ]ÁX V«◊ªRÙO ◊XSÔÃ^ EıÃ[˝”X* 

  4 + 2 + 2 + 2 = 10 

4. ◊[˝„l˘YS ◊ªJÙy [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊Eı\ˆÁ„[˝ ◊[˝„l˘YS ◊ªJÙ‰yÃ[˝ 

aÁc˜Á„^Ó ac˜G◊TˆÃ[˝ Y“EıÁÃ[˝ ◊XSÔÃ^ EıÃ[˝Á ^ÁÃ^ ? ◊&Ã^ÁÃ[˝]ÓÁ„XÃ[˝ 

]ÁXy‘◊]Eı ac˜GÁ„·¯Ã[˝ aep˚Á ◊VX*  4 + 3 + 3 = 10 
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5. (Eı) x-AÃ[˝ 100 ◊ªRÙO ]Á„XÃ[˝ LXÓ X›‰ªJÙÃ[˝ ◊c˜aÁ[˝m◊_Ã[˝ 

aÁ]taÓ YÃ[˝›l˘Á EıÃ[˝”X : 

  ∑ = 169x ,  ∑ = 1602x  

 (F) Y“Vw¯ : Y“◊TˆÍ[˝b]Ó mSÁ·¯ = – 0·375, Â^Ï◊GEı    

GQÕˆ = 62, ]W˝Ó]Á = 65 * a]Eı ◊[˝ªJ«ÙÓ◊Tˆ ◊XSÔÃ^ EıÃ[˝”X*   

 (G) ^◊V AEı◊ªRÙO ªJÙ_Eı x-AÃ[˝ V«◊ªRÙO ]Á„XÃ[˝ GÁ◊S◊TˆEı GQÕˆ C 

m„SÁw¯Ã[˝ GQÕˆ ^UÁy‘„] 5 A[˝e 4 c˜Ã^, Tˆ„[˝ ]ÁX V«◊ªRÙOÃ[˝ 

◊[˝[˝Tˆ¤ GQÕˆ ◊XSÔÃ^ EıÃ[˝”X*   2 + 5 + 3 = 10 

6. X›‰ªJÙÃ[˝ TˆUÓ ÂU„Eı Laspeyre-AÃ[˝ Yà˘◊Tˆ Y“„Ã^ÁG Eı„Ã[˝ 

◊X∂oˆ◊_◊FTˆ TˆUÓ ÂU„Eı 2000 aÁ_„Eı ◊\ˆ◊w¯ [˝daÃ[˝ W˝„Ã[˝ 

2010 aÁ„_Ã[˝ LXÓ (i) V„Ã[˝Ã[˝ a…ªJÙEı aeFÓÁ A[˝e (ii) Y◊Ã[˝]ÁS 

a…ªJÙEı aeFÓÁ ◊XSÔÃ^ EıÃ[˝”X :     

aÁ]G–› Y◊Ã[˝]ÁS 
Y“◊Tˆ AEıEı 

Y◊Ã[˝]Á„SÃ[˝ VÃ[˝ 
2000 2010 2000 2010 

A 50 80 200 300 

B 80 100 250 400 

C 70 75 100 200 

D 60 65 300 350 

E 40 45 340 290 

  5 + 5 = 10 

7. ◊X‰∂oˆ Y“Vw¯ TˆUÓ ÂU„Eı t
t aby =  W˝Ã[˝„XÃ[˝ AEı◊ªRÙO Y“[˝STˆÁ 

a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X :  

t  1 2 3 4 5 6 7 8 9 

ty  197 213 229 302 295 293 292 337 335 

  10 

8. Lagrange-AÃ[˝ ◊[˝[˝Tˆ¤ %‹ôˆfY“„l˘YS a…y◊ªRÙO ◊[˝[˝ Tˆ EıÃ[˝”X A[˝e 

Ac˜O a…‰yÃ[˝ aÁc˜Á„^Ó ◊X∂oˆ◊_◊FTˆ ªK˜Eı ÂU„Eı y = 100 c˜„_   

x-AÃ[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X :   

x 3 7 9 10 
y 168 120 72 63 

10 

9. (Eı) ^◊V aÁ◊[˝ÔEı ÂaªRÙO U = { 1, 2, 3, 4, 5, 6, 8 } A[˝e    

A = { 3, 4, 8 } C B = { 2, 6, 3, 4 }  U-AÃ[˝ 

=Y„aªRÙO c˜Ã^, Tˆ„[˝ ÂVFÁX Â^ BABA ′∪′=′∩ )( .  

 (F) ^◊V ◊TˆX◊ªRÙO ÂaªRÙO A, B C C A]X c˜Ã^ Â^ 

CABA ∪=∪  A[˝e CABA ∩=∩  TˆÁc˜„_ 

Y“]ÁS EıÃ[˝”X B = C. 5 + 5 = 10 

10. (Eı) a]aïˆ[˝ =YÁ„Ã^ ◊X[˝ÔÁ◊ªJÙTˆ ÂEıÁX %◊W˝[˝bÔ (leap     

year)-A 53 ◊ªRÙO `◊X[˝ÁÃ[˝ UÁEıÁÃ[˝ aïˆÁ[˝XÁ EıTˆ ?  

 (F) V«◊ªRÙO HªRÙOXÁ A C B A]X Â^ 40)( ⋅=AP , 

70)( ⋅=∪ BAP  A[˝e xBP =)( * x-AÃ[˝ ÂEıÁXÀ 

]Á„XÃ[˝ LXÓ A C B HªRÙOXÁ V«◊ªRÙO ÿëˆTˆ‹óˆ (independent) 

c˜„[˝ ?  



 ECO-III (UT-280/15) ECO-III (UT-280/15) 2  

B.Com.-314-Y   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.Com.-314-Y  

 (G) AEı [˝Ó◊N˛„Eı ◊TˆX◊ªRÙO Y„VÃ[˝ LXÓ Â]Ï◊FEı YÃ[˝›l˘ÁÃ^ 

QˆÁEıÁ c˜„Ã^‰ªK˜* Y“U] Y„VÃ[˝ LXÓ 3 LX YÃ[˝›l˘ÁUfi, 

◊•Tˆ›Ã^ Y„VÃ[˝ LXÓ 4 LX YÃ[˝›l˘ÁUfi A[˝e T ˆTˆ›Ã^ Y„VÃ[˝ 

LXÓ 2 LX YÃ[˝›l˘ÁUfi %Á‰ªK˜* B [˝Ó◊N˛Ã[˝ Eı]Y„l˘ 

AEı◊ªRÙO YV YÁCÃ^ÁÃ[˝ aïˆÁ[˝XÁ EıTˆ ? 3 + 3 + 4 = 10 

Part - II ( Marks : 50 ) 
( Business Organisation ) 

◊[˝\ˆÁG — Eı 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 20 × 1 = 20 

1. [˝_Á c˜Ã^ Â^, EıÁÃ[˝[˝Á„Ã[˝Ã[˝ V«◊ªRÙO ◊VEı %Á‰ªK ˜— [˝Ó◊N˛GTˆ C 

aÁ]Á◊LEı* Ac˜O ◊VEım◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2. Ã[˝Ár—Ù›Ã^ EıÁÃ[˝[˝Á„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ ◊_F«X* \ˆÁÃ[˝Tˆ›Ã^ %UÔX›◊Tˆ„Tˆ 

Ã[˝Ár—Ù›Ã^ EıÁÃ[˝[˝Á„Ã[˝Ã[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

◊[˝\ˆÁG — F 

Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 2 = 24 

3. AEı◊ªRÙO Â^ÏU ]…_W˝X› ÂEıÁ+ÁX›Ã[˝ ÿëˆî„]Ã^ÁV› C V›HÔ„]Ã^ÁV› 

]…_W˝„XÃ[˝ =dam◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

4. a][˝ÁÃ^ a◊]◊TˆÃ[˝ =„ï`Óm◊_ ◊_F«X* EıÃ^ Y“EıÁ„Ã[˝Ã[˝ a][˝ÁÃ^ 

a◊]◊Tˆ c˜„Tˆ YÁ„Ã[˝ ? 8 + 4 = 12 

5. "EıÁÃ[˝[˝ÁÃ[˝› ÂLÁªRÙO' [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ÂLÁªRÙO [˝μ˘„XÃ[˝ 

EıÁÃ[˝Sm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 = 12 

◊[˝\ˆÁG — G 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 1 = 6 

6. aeG◊PˆTˆ [˝ÁLÁÃ[˝ C %aeG◊PˆTˆ [˝ÁLÁ„Ã[˝Ã[˝ YÁUÔEıÓm◊_ ◊_F«X* 

7. l«˘V–ÁÃ^TˆX EıÁÃ[˝[˝Á„Ã[˝Ã[˝ mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

8. EıÁÃ[˝[˝Á„Ã[˝Ã[˝ CYÃ[˝ aÃ[˝EıÁÃ[˝› ◊XÃ^‹óˆ„SÃ[˝ Â^Ï◊N˛EıTˆÁ Eı› ? 
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English Version 
 

Part–I ( Marks : 50 ) 
( Statistics ) 

  Answer any five questions. 10 × 5 = 50 

1. There are two missing frequencies in the 

following frequency distribution : 

Class-
interval 0-10 10-20 20-30 30-40 40-50 

Frequency 14 — 27 — 15 
 If the median and the mode are respectively       

25 units and 24 units, find the missing 

frequencies.  10 

2. Find the standard deviation and the mean 

deviation about the mean of the following 

frequency distribution : 

x 0 1 2 3 4 5 6 7 8 
f 4 10 13 21 23 20 18 9 2 

  5 + 5 = 10 

3. The equations of the two regression lines for the 
variable x and y are 03354 =+− yx  and 

0107920 =−− yx . 

(i) Identify the regression line of y on x and 
that of x on y. 

(ii) Find the value of xyr . 

(iii) What will be the estimated value of y when 

x = 10 ? 

(iv) Find the means of x and y. 

  4 + 2 + 2 + 2 = 10 

4. What do you understand by a scatter diagram ? 

How is the type of correlation determined by a 

scatter diagram ? Define Spearman's rank 

correlation coefficient.  4 + 3 + 3 = 10 

5. (a) Examine the consistency of the following 

calculations concerning 100 values of x : 

  ∑ = 169x ,  ∑ = 1602x  

 (b) It is given that coefficient of             

skewness = – 0·375, mean = 62,                 

median = 65. Find the standard deviation.  

 (c) If the arithmetic mean and the geometric 

mean of two values of the variable x are 

respectively 5 and 4, find the harmonic 

mean of the two values of x.  

   2 + 5 + 3 = 10 
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6. From the following data, taking 2000 as base 

year, using Laspeyre's method find 

(i) price index number, and  

(ii) quantity index number  

of the year 2010 :   

Commodity 
Quantity 

Price per unit of 
quantity 

2000 2010 2000 2010 
A 50 80 200 300 
B 80 100 250 400 
C 70 75 100 200 

D 60 65 300 350 

E 40 45 340 290 

  5 + 5 = 10 
7. From the following data find a trend equation of 

the form t
t aby =  :  

t  1 2 3 4 5 6 7 8 9 

ty  197 213 229 302 295 293 292 337 335 

  10 
8. State Lagrange's inverse interpolation formula 

and using this formula find the value of x when   

y = 100 from the following data :   

x 3 7 9 10 
y 168 120 72 63 

10 

9. (a) If the universal set U = { 1, 2, 3, 4, 5, 6, 8 } 

and A = { 3, 4, 8 }, B = { 2, 6, 3, 4 } are 

subsets of U, show that BABA ′∪′=′∩ )( .  

 (b) If the three sets A, B and C are such that 

CABA ∪=∪  and CABA ∩=∩ , prove 

that B = C. 5 + 5 = 10 

10. (a) What is the probability that a leap         

year selected at random will contain            

53 Saturdays ?  

 (b) Two events A and B are such that 

40)( ⋅=AP , 70)( ⋅=∪ BAP  and xBP =)( . 

For what value of x the events A and B will 

be independent ? 

 (c) A person is selected for interview for      

three posts. For the first post there are        

3 candidates, for the second post there are 

4 candidates and for the third post there 

are 2 candidates. What is the probability of 

the person getting at least one post ? 

   3 + 3 + 4 = 10 



 3 ECO-III (UT-280/15) ECO-III (UT-280/15) 4  

B.Com.-314-Y  [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.Com.-314-Y  

Part - II ( Marks : 50 ) 

( Business Organisation ) 

Group – A 

  Answer any one question. 20 × 1 = 20 

1. It is said that business has got two aspects — 

Individual and Social. Explain these aspects. 

2. What are the features of public enterprises ? 

Discuss the role of the public enterprises in 

Indian economy. 

Group – B 

  Answer any two questions. 12 × 2 = 24 

3. What are the short-term and long-term sources 

of capital of a joint stock company ? 

4. What are the objectives of cooperative society ? 

What are the different types of cooperative 

societies ? 8 + 4 = 12 

5. What is meant by 'business combination' ? What 

are the causes of combinations ? 4 + 8 = 12 

Group – C 

  Answer any one question. 6 × 1 = 6 

6. Distinguish between organised and unorganised 

markets. 

7. Discuss the importance of a small business. 

8. What is the rationale of government control over 

business ? 

     


